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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

R - 31”'\& graT foues auET grar %” Question 1D ; 9864493245
Status - Answered
Chosen Option :1

One horse power is:
Ans

Q.2 g F B # mad el saeEiE # § o BT (Kilves SETERTE _ .
w5 Bt A ot R B Question 1D - 9864492128

One of the most destructive voleanoes in recent times has been the Kilawea voloano, Slﬂ?l.ls:ﬁnswamd
Where is it located? Chosen Option : 3

s [CRRCIC]

Hawaii

Q3 P # & Fe or et e wEE F:ET? Question 1D : 9864492860

Which of the following will yield a recurring decimal? A T
Ans 21 Chosen Option : 3
J g0

X2

&0

KSEI

30
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120

Q4 =F o7 wEEE TEn FF o B = e I R e @ oaeee

Ans

Bl

Question 1D : 9864493787
Status : Answered
Chosen Option :1

ok

TR WEN A 26 TR # AWl B e JEr &8 R
st

1. 3t & FrEw s &= el

2. Faosdr St s oot

Consider the Argument and decide which of the given assumptions is (are) implicit,
Argument:

The present government had reduced the base price for auctioning for the 20 spectrum,
Assumplions:

1. Mext time price will reduce further,
2, Last time the auction was not good.

Faer e 1 T &
Only assumption 1 is implicit
Kzﬂ?—ﬂ‘l ikafr2f@fa e

Neither 1 nor 2 is implicit

1 3k 2 = Afea &

Both 1 and 2 are implicit
e wgAw 2 ARk &

Only assumption 2 is implicit

.

x

v

Qb

Ans

wanfarat & snfday Jr & a9 O AT 3 TaEe & e & R
frfafls & & st 7 s 17

Which of the following is necessary to madntain the number of individuals of species and
o prevent their extinction?

Cuestion 1D 19864493338
Status ; Answered
Chosen Option -3

=THA
‘Respiration
O
Circulation
LECCl
Reproduction
: 9T
Digestion

.

N2

¥ &

Q.6

Ans

HREY 2018 ¥ #RT &F IE A T 2
Who is the Home Minister of India as of February 2018?

Question 1D : 9864492317
Status : Answered
Chosen Option : 3

Ty fRE
Rajnath Singh
o,
Narendra Modi
HTOT AT
X3
Arun Jaitley

v



~
4,
Sushma Swaraj

Q.7

Ans

e A A oy 2w o s oo & o s 3l
T & = 3

Which of the following gases makes bread or cake rise making them soft and spongy?
~ . H,

X 2CO

v 3 CO,

X 40,

Question 1D : 9864493529
Status : Answered
Chosen Option -4

Q.8 00235 FF v U e F w9 F 3EE WO 79 B 59 R s

Ans

0.0245 written as a vulgar fraction in its simplest form = 7

1111

Question 1D : 9864492300
Status - Answered
Chosen Option : 2

Q.9

Ans

7= & B o Tt A & v & FE oF wRE A A e
¥ 3@ fwey = Tow =5 7 By © # fir o o R () St owmw wEa
g

I!Yﬂ i6 L o8 21
T Y Y
A B [+

Assuming that the numbers in each of the following figures follow a similar pattern, sebect
the option that can replace the question mark (7) in figure C.

12 L} 18 T 25 Eil
I i
< 1321
X2 241
v 184
X 4210

Cuestion ID : 9864494209
Status : Answered
Chosen Option : 3

Q10 Shraer i seafea F At F 3fE = e Fag wEfa

Ans

Oparin’s theory about ‘Origin of life’ is related to:

v | Tt e
chemical evolution

X2 e e
biological evolution

s sitfee e
physical evolution

X4 T
artificial evolution

CQuestion |D : 9864493137
Status - Answered
Chosen Option ;2




Al gy Xwadt YZemamtFZzFsRarXFawE? Question ID : 9864493809

IfY is the brother of X , Y is Z's son then Z's father is X's . Shalls; Anaweed
Chosen Option :1
Ans glal

e
Grandfather
Kz_ﬁw

Father

HAT
Na T
Father-in-law

| = [ATHT [§1 AT aF
Uncle

X

Q.12 mw o e foee Rt & & wois & soo o wAw SR W SR O

¥, ™0 frrry w1 WO W S R C # e aw ge T (7) B wEE WEA Question 1D : 9864494208

Status - Answered

T
Chosen Option ;1
i [ =]
L1 2] [m]o] tu]
B

A 4

Assurming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (7) in fgure C.

m_ [ (e
14 ]12] l.!t*..'!_: Lrlu]
Ans (1. 21
X281
X 3 61
v 16

QA3 ¥ + ar + b F 7T o~ 4 ZE0 BwlEe B war oA 32 o wme B s
i 4 by 4 o B OFTE ¢ - 4 Z30T Foatem B S § oA 35 o
a+bh=7%

Ifx? 4 ax + b, when divided by x - 4, leaves a remainder of 32 and v¥ + by + a, Chosen Option :4

Question 1D : 9864492977
Status : Answered

when divided by x - 4, leaves a remainder of 35, thena + b =7
ans of 1 - 23

X27

X323

Xa-7

Q14 fory FpTer WA F 3 A T N @w 4w AN
Which Mughal Emperor was deported to Rangoon by the British? Status : Answered

Ans aglg{ Mg Chosen Option ; 4
sl
TEIGY MG HEHG G
Bahadur Shah Ahmed Shah
X3 delgl g I
Bahadur Shah I
7 dglgl Mg oTHY

Bahadur Shah Zafar

n 2

Q.15
Question 1D : 9864492841



Status - Answered

2 3l 2 et e a3 e

5 8.
Thesumof;andgw:

X112

13
X222

40
X3

80
40
89
v 40

Ans

Q.16 ofy frd w7 & fiemry & 3 $fieT @ 9 B = AT SEW HOAe 857
o7 GEieT 97 I o9 F uelE e f g S e

If the edge of a cube is increased by 3 cm, the vohune will increase by 657 cm®. What

Cuestion 1D ;9864493015
Status : Answered

then is the origial length of each edue of the cube? Chosen Option : 1
e, 6
6 cm
x , 9 HEHII
9 cm
x ; 8 WA
8 cm
. 7 FEHAR
7 cm

Q17 frg far '
Faafittezn e & e s o G Yt #1 den ww g Question ID : 9864494111

Status : Answered

E% Chosen Option :3

The mummum number of straight lines requared to construct the given figure 15 .

X5

il G
214
X313
X415

Q.18 : :
YeRTel T FTeH fRET e arT vera fonar aram am Question 1D : 9864493123
Status - Answered

The quantum theory of light was given by:
= Chosen Option :1

Ans
X1 HEESA
Einstein
o
X2 °
Newton

S
Faraday

<A



W olTeh

Plank
O Sfefle w7 7 9 e g & 937 F1 Question ID + 9864494304
Status - Answered
Chosen Option : 3
Ao |a | |5
Select the odd character out of the following series.
Aol | |5
Ans X1 g
v:25
NXain
A
420 256 & fFaw IUES O T 2 Question 1D ;9864492824

Status : Answered

How many of the factors of 256 are perfect squares? Chosen Option : 1

Ans x14
X223
X336
s

W xm F & T wpaat A F BT F oTTa F: Question 1D : 9864494332

SIS

Chosen Option 3
1 2 3 4

Select the odd figure out of the given series.

S|

1 2 3 4
Ans B 1 1
Xz23
V4
X42

Q.22 2017 # aftm dgpee gam defe fre av v o O @ oA En R

Cuestion 1D : 9864492420
What is the name of the new Androwd App that has been launched by Sachin Tendulkar in
20177 Status : Answered



Ans >
x 1 e Hag
Aamchi Mumbai
V2 100 THEY
100MB
o=
Sachin
*%a TH.INEL.
SRT

N3

Chosen Option : 4

Q.23 v wir gEaedt S o9 AW &Y 99 # o7 AT = R oS & () R
T W AR ¥ § T (0 ) = f

LEGESH

N T o g

e
1. Wit &t wE {
2. T wE g E

Consider the given statements to be true and decide which of the conclusions logically
followis) from the statements.

Statements:
All boys are girls, All girls are monkeys,

Conclusions:
1. All monkeys are boys,
2. All boys are monkeys.

ok ¢1mﬁq&2wmﬁl

Only conclusion 2 follows.
Faor frsHY 1 HFEIOT FT g
2

Only conclusion 1 follows.

1 3R 2 et JgERor X &

X

X
Both 1 and 2 follow.

o 1 3R 2 gt srgaTor 7@ Fa €
Neither 1 nor 2 follows.

Question 1D : 9864494017
Status : Answered
Chosen Option 31

Q.24 fEw v ARE GTAN] AR F ¥ ANA F TTA] S HERT F aAEe
s #HiE 7

Which Indian nuclear scientist s curremtly the chaimsan of the Atemic Energy
Comumission of [ndia?

Ans HIEde ATaY

R. Murugesan
| v, fRor FAR
A_S. Kiran Kumar
b AT a19g
Sekhar Basu

X

Question 1D ;9864492365
Status : Answered
Chosen Option : 3




Q25 3 w1 947 FY A e wag @ g 4§

Oso|cos
A B C

O-a

Select the option that does NOT belong in the following figure series.

AxS|.o0|s=c|o=-0
* %0

D

axs|-00
osofcos

S=C
O-a

A B C
Ans X1D
X2B
XsC
viA

=0
* %0

D

|

Question 1D - 9864494367
Status : Answered
Chosen Option :3

Q.26 7w #1f avg, 7w 47 fan # 1 HeT 1 gl W OIN 79 & @ awd g A
fire o @y A R B

‘What is the amount of work done when a body moves uder a force of 1N at a distance of
Imetre in the direction of the force?

Ans 100
r G E{!\F{-‘l’

100 Joules
10 S H

10 Joules

0.01 Joules

Question |0 : 9864493421
Status : Answered
Chosen Option : 2

Q.27 =fy mmar k3481, 3 & FTsw ¥ S TR 3§ AT «F o ows Al o

T T & wEaT B

If the mamber 13451 is divisible by 3, where x is a digit, what can be the sum of all such

walues of x7

Ans x1 16
V215
X311
X 414

Question 1D : 9864492664
Status : Answered
Chosen Option : 2

Q.28 szmr & yraifor dfmr o1 gor @00 T 2016 & oA A AT W
T F i W e R oo
Which team won the 2016 Champions Trophy Men's Hockey toumament defeating India

in the finals in London?

Ans x 1.ﬁaﬁ'g.\q.

Netherlands

AN
USA

X 2

Jﬁyﬁﬂw

Australia

Question 1D : 9864492269
Status - Answered
Chosen Option : 3




x 4 e
Spain

Q.29 Rrefafie semw & & fd o nefte v i a sftam g e
In which of the following examples will an athlete have maximum sccelerated motion?

Ane T ISTHIVHT T 9T ST

Question 1D : 9864493560
Status : Answered
Chosen Option : 3

KmRmmingnnanoctaguna! track
2 T HIIATRR T 9T Sl
Running on a rectangular track
3 Teh §HIUTT T 9T SI5AT
Running on a hexagonal track
e Teh ol T 9T &5
Running on a circular track

Q.30 gy fiit @ v 2 1 afy I & ow D @ A s v el @t

The sum of two fractions i:.%. Ome of them ;55 What is the other fraction?

Ans X" 1

Question 1D ; 9864492861
Status : Answered
Chosen Option :4

X2
<A
g

- e EIH il

12

Q.31 = $r g, S Seuv o & oRore B oo v we I
The repeated reflection that results in persistence of sound is called:

Cuestion 1D : 9864493584
Status : Answered
Chosen Option : 4

Ans -

X | SR
reflection

r FereitaToT
rarefaction

W gfeeata
reverberation

x4 T
echo

Q.32 Fraafamat A dT & T F 16 T4 WA E 6 T4 TF, T IRA R IO

e & 3 7 3 9 AT A 3B H A g AT eafee o oy e £
The ages of A and B differ by 16 years. 1T 6 years ago, the elder one was 3 times as old as
the younger one, find the present age of the younger between A and B?

Cluestion 1D ;9864492473
Status : Answered
Chosen Option : 2

Ans K1 llElﬁ‘
]I}'&EIS

1299

12 years

1499

14 years

X2

W3



x 4 15 3%
15 years

Q.33 22 #reT M1 T OF AR 9 & T 2 2 Ay o weE weg ok §
o Famg AT oterk & wEE § T w0 o
9 #reT 1 T ¥ TF FTE O A9 A a0 O ST W
A square park having a side 22 m has two roads each 2m wide mnning in the middle of it

Question 1D : 9864492834
Status - Answered
Chosen Option : 4

and parallel to its length and breadth. What will be the cost of gravelling the path at the
rate of T 100/m*?

Ans (1 T 88
W 2 T 8,400
X 3 T 8,800
XaTs4

Q.34 & 37 B el w78 = 20 Rt F e ST EeS £ B it C T 30
A amFcRafmr Ui doesaf 6t Codw
e e faan At & o & mAE &

A and B can complete a task in 20 days, B and C can complete it in 30 days while C and A
can do the same tsk together in 24 days, How many days will each of B and C take 1o

Question 1D ; 9864492689
Status : Answered
Chosen Option : 2

comglete the task individually?

Ans 54 3 72

O
54 and 72
Xz_saaiksd,
36 and 64
v 48 3 80
48 and 80
x4_503ﬂ154
50 and 54

O corergraer v 82

Phytohormones are:

Ans B 1.

Question 1D : 9864493096
Status : Answered
Chosen Option ©3

i SiFmTHT # wenfas = e ol g mafte Faes
regulators synthesised by plants influencing physiological processes
TRl HRATUT & T STcATer faRar Sirer arer gerey
substances used for photosynthesis

X3
Brelat & T seaaATe 63 STe arer [

chemicals used for peeling
T fd i e arer gerey

substances controlling diseases

754

Q.36

Question 1D : 9864494351
Status : Not Answered
Chosen Option : -




Ans

far o1 waTw w TAET Mt T T B s mew = sEw & F R oy
1 Ee Ty e

T W ST W o @ §

LEH

) 0 wiew Wi wrgfaew FEad quiE FFe §
() =i SrpTaes wEmst F A A

Consider the given question and decide which of the following statements is sufficient to
answer the question.

All nataral members are whole numbers?

Statements:

(I} Al natoral members plus O are called whole numbers.
(I} Whole mesmbers are different from natural numbers.

r G5
9T & 3ca¥ &4 & faw (1) 3T () 2= & v £

Both (T) and (II) are sufficient to answer the question.

v:
wa & waE i & B osEa () oty § el e () adew a8
{Iyalone is sufficient while (II) alone is not sufficient to answer the question.

X s
WA W AR A & R aa () 7 & () @ F
WNeither (I) nor (I) is sufficient to answer the question.

54
WA & A & AU R () St § el s () sy a2
(I alone is sufficient while (D) alone is not sufficient 1o answer the question.

Q.37 afy waa Ao & 50 Hey giEnrateas §, T o A & 50 Mey SiEgd

Ans

&, fre FAen & e & B i AR

If Kamala 18 50 m south-west of Neeta, and Ruta 18 50 m south-east of Westa, then Fita 18
m which directson with respect to Kamala?

Question 1D : 9864494362
Status - Answered
Chosen Option 1

X1 Ica-aRgH
North-west

, FE

North-East

qiegH

X 3
West

v ®

East

X

Q.38 it oty Al & ot o aam o e 5.8 ¥ s de oy e & @t =

Ans

I 712 B S oy S & el W e am 37

The ratio of the number of marbles that Joves and Mimati had was 5 : 8 while the ratio of
the number of marbies that Facob and Minati had was 7 : 12. What is the ratio of the
mumber of marbles that Joyee and Jacob had?

Question 1D ;9864492705
Status : Answered
Chosen Option : 2

K1LT:5
Kzs:7
vil15:14



X42:3

Q.39 WFRE-R-Oa T et o ot S adeer A spegE () @ ; .
. Cuestion 1D - 9864492321

Status  Answered
Whach actor-turmed-politician is currently a Lok Sabha Member from Ahmedabad (East)

constitvency? Chosen Oplion : 4
Ans K . ﬂﬁﬁ
Dharmendra
X2 SHE T
Hema Malini
V5 2T Jael
Paresh Rawal
x 4 e fwgr
Shatrughan Sinha

Q40 o= o8 ¥ A AE TR ¥ AR s 3 2017 & R o
Which Indian economist wrote the 2017 book °I Do What [ Do*?

Question 1D : 9864492278
Status : Answered

Ans x : m q'E.'E"T Chosen Option : 2

Utjit Patel

X2 e o
Manmohan Singh

v HAH BA
Amartya Sen

Fa 3
Raghuram Rajan

Q41 3up F7 oA L A TAURT H FEA FF TS 2 Question ID : 9864493047

What is the number of atoms constituting a molecule known as? Status : Answered
s RAIOFAT (Atomici el i
v > ity)
Atomicity
x , TS e

Atomic number

3 HEEET (Isotopes)
Isotopes

x 4 YAV gaAT

Atomic mass

Q.42
Cuestion 1D - 9864494278

Status : Answered
Chosen Option : 2




rmmEwiEm s T T AT T R s E e R A
e T FaE deE g

L e
POR & Fw =iz 727 §7
LL G H
1. ABC, BCD ®r Zaflar &; DEF, EFG #r oufar &1

2. LMN, MNO #r Zefr & OPQ, POR = Zxfiar 1
Consider the given question and decide which of the following statements is sufficient 1o
answer the question,

What s the code for POQR?

Statements:

L ABC represents BCD; DEF represents EFG.
IO LMN represents MNC: OPQ represents POR.

Ans 4’1
faw a1 o F7 3eaT & & v ar & 1 T 2 gaea B

Either I or 11 is sufficient to answer the question.

X 2
far oo oy & It & % TAT 2 amwr gotey &, SR 1 e gdiey S

#l

I1 alone is sufficient while I alone is not sufficient to answer the question.

75 3

e o1 oo S SeET 3 fAw 1 o oo &) s 2 e woew A6
E

I alone is sufficient while IT alone is not sufficient to answer the question.

7 4
2w v 9o F e 29 & v 1 3k 2 St gdew §

Both I and IT are sufficient to answer the question.

q'“‘&ﬂ'?ﬂ? ﬁ’# T S E Ii[E: Question ID : 9864493851
JUMBUCKS : SKCUBMUJ : SHIPJACK : 5‘3?”* ‘Answered
Chosen Option : 2

Select the related word from the given alternatives.

JUMBUCKS : SKCUBMUT :: SHIPJACK :

Ans 1 KCASPHIS
v 2 KCAJPIHS
X 3 KCAIJPHS
X « KCAJIPHS

44 :
Q.44 o affar avalies ot R #2400 520 300 1 1 L ) e tfevercy v T Question ID - 9864492448

The S.P of a washing machine is 13 of its C P. Find the gain percent Status : Answered
Chosen Opfion ;2
Ans x1 55;!
W2 3329
3
X 3 33%
X 4 66%
Q.45

Question ID : 9864493141



20 N ¥ OF ¥F OF 75 #1 2 vy e s g s o s s e ) ww o
Fama s da s

A force of 20 N displaces an object through 2 m and does a work of 20 J. The angle
between the force and displacement is:

Ans .f-, 60°
X 2 30°
X< 3 90°
X 4Q°

Status : Answered
Chosen Option : 4

A48 Fepal F v AT FA% & SETEIT F IEE|
Identify an example of a connective tissue in humans.

Ans * .
X 1 AT

Muscles
X 2 or
Fibres
v =
Bone
HITET
Cell

<4

CQuestion |D : 9864493055
Status - Answered
Chosen Option : 4

Q47 Frw & I E@A HOaOw w0, e urgat § & R e it e
e
Which of the following metals is NOT obtained by reduction using carbon?

Ans x1m.l.

Iron

5 4

Zinc

Question 1D ;9864493352
Status - Answered
Chosen Option : 3

Q.48 o I # 140 ey =0 <ewnr 1 15 e & T 180 HeT e ewe
& 17 g%% # o =1 fFn &= & e = 37

A train crossed a 140 m long platform in 15 seconds and a 180 m long platform in 17
seconds. The speed of the train was:

A x 1 75 frarsfeT 9fy ae
75 km/h

69 fFeitaeT 9fg ue
69 km/h

66 fereitdey 9fa ue
66 km/h

v . 72 Reealer ufy w
72 km/h

F

o3

Question 1D ;9864492730
Status ; Answered
Chosen Option : 3

049 a6 T 9T AT & FITF ST T

Ice floats on water because its density is:

Question 1D ;9864493208
Status : Answered
Chosen Option : 1



Ans

| T F 30 P g
more than water
xg_mﬁr%ma‘m%

same as water

v TR AFAE
less than water

x4 THAAE

ZEro

X

Q80 ray HET & dear & wei fr wer g gl

15 the number of shells for elements of the 3 period.

Ans x11

CQuestion 1D 19864493633
Status : Answered
Chosen Option :1

KD
X330
Vi3

Q.51 fr nw aw=eEw ® WU A AT 94 3T OF w9 & Tk w F (En ey

THAET # B FEEE T A IO (A ) = E

TR

Cuestion 1D : 9864494193
Status ; Not Answered
Chosen Option -

Fad FA = A T FAEE @ S W AF g 8 A R
fored;

1. FH T AgIT H
2. 7# oW & BT w9 & mEEta S5 95§

Consider the given statement to be true and decide which of the given conclusions
logically follow(s) from the statement,

Statements:

All work and no play makes jack a dull boy.

Conclusions:
1: To work is important.

2: One has to compromise work for play.

Ans :
X1.1 AR 2 @t e FE = €l
Neither conclusion 1 nor 2 follows.
s Faor fmd 1 IFEoT HIaT B
Only conclusion 1 follows.
@s Faor fashd 2 ITEOT HIET B
Only conclusion 2 follows.
- 1 3R 2 g IrERoT FY
Both conclusions 1 and 2 follow.
as2

Cuestion |D : 9864492468
Status : Answered



T ST 4% 2T BT O T 3,600 F ST A ) AR 3H T 4,200 F S0 S0 o e l

Chosen Option :4

g g

A fan was sold for T 3600 at a loss of 4% What would be the gam or loss percent if it was
sold for T 42007

Ans x 1 l—_.’-[ﬁ-’ 10%
Loss 10%

X2 gifet. 12%

Loss 12%
| T, 10%

Gain 10%
| T 12%

Gain 12%

x

v

Q.53 3y vl wog F TS FY, S FeAtafEE 37 w5 e #

Question 1D : 9864494260
Status - Answered
Chosen Option : 4

® o

Select the correct set that represents the following Venn diagram.

A

® ) ©

Ans ) AME @ 9 FEaET, a9, T
Flesh-eating animals, tigers, cows

, AIE @ aTer S, e, R
Flesh-eating animals, tigers, lions

| O T AT AR, T, st
Grass-eating animals, goat. buffalo

, I W e S, e, B

Grass-eating animals, cows, deer

x

x

x

Q.54 =fy 10 0 ¥ o aftrius & 1.5 et $r g o e T kA B
# frefag == & 7mr e gt
M & current of 1.5 A is maintained in a reaistor of 10 [0, then the energy dissipated in the
resistor in 1 minute wil be:

Question 1D : 9864493466
Status : Answered
Chosen Option : 3

Ans x 1 13591
135 W

1350 a1

1350 W
15491

15W
22.54dIc
22.5W

W
P

X4

Q.55 g yiiewst 3 15 WoTOT T T (434 + x) F1 TP T E AT & F, 7w
g

The sum of 15 observations of a data is (434 + x). If the mean of the data is x, then the
value of X is

Question 1D : 9864492677
Status : Answered
Chosen Option ©3

A K128



X 2133
%327
V31

Q.56 #irr By 3w wAp & e A 9 w10 AR AifEE 10 e & o
3 gw wer gferenae fen @ R g ame AT o e @, gEw ser
faw & wge @ & A O zh w & widenia @ @ o oo &
arfear e & arean amerr am g@m?

RE7SE%MIWAB09FE2ASMS

If the first 10 terms and the tast 10 terms of the given expression are interchanged m such
a way that the first term is interchanged with the last, the second with the second last, the
third with the third last and so on, what will the fifth term from the right be in the new
arrangement?

RB7SESMIWASQ9¥BIASMS

Ans (4 9
X2 A
X35
v4E

Question 1D ;9864494098
Status - Answered
Chosen Option : 4

Q.57 s 7@ ¥ oF S, i 9e w2017 & e B e e
wrtee far mar ) after few o o wfae B2
Gurinder Chadha, a Britisher of Indian-origin, has been honoured with the Sikh Jewel
Award for 20017, In what line is Gurinder famous?

L e forsToT

v .
Film-making

x 2 gtz (TaifeTw)
Athletics

753 BRI
Medicine

4 e
Journalism

Question 1D : 9864492412
Status : Answered
Chosen Option -4

Q.58 a7 5,000 F1 wAnf ol s #110% ofiE o7 o e e §ood
& a0 F T 1,655 3T W @ §| o AW A ST

Shams invested T 3000 at 10% per anmem compound interest. Afler n years, Shams
recerved ¥ 1655 more. Find the value of n

Question 1D : 9864492626
Status : Answered
Chosen Option :1

Ans
499
X1
4 years
3ay
v 3 years
1ay
a
X 1 year
2a9
4
’” 2 years
Q.59

Question 1D : 9864493881
Status : Answered
Chosen Option ;1




Frafafas A ¥ w0 ¥ W oF 3 T 1 @fF JE wRE a| A
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SIAIO

2

5

[F]
Use each of the following figures only once and form three groups. The three groups so
formed are:

SIA|O

1 2 3

N
AT

F ) an 9

Ans of 1 (1,3,5), (2,6,8), (4,7.9)

X 2(1,3,5), (2,7,8), (4,6,9)
< 3(1,3,5), (2,6,9), (4,7,8)
X +(1,3,9), (2,6,8), (4,7,5)

Q.80 wriT 77 & g ok eefRfaw & @ st & 590 & oo seh
Hitm (Hn #7

India-borm Sundar Pichai ts the Chief Executive Officer (CEQ) of which of the following
cormpanies?

Ans

Question |D : 9864492144
Status : Answered
Chosen Option :1

T
Google
st
Amazon

X 3 ATSHITTFS
Microsoft

g
Dell

W

52

4

Gl sy 2o AT s S st A T e Er iF
grm?

Nitin ranks 23rd from the top in a class of 42. What will be his rank from the last?

Ans

ol

Question 1D ;9864494347
Status : Answered
Chosen Option 3

X i 234r
23rd
X 2 25ar
25th
v, 208
20th
X 4 27at
27th
Q.62

Question 1D : 9864493690
Status - Answered
Chosen Option : 2



fow v Tt Wt & waAftw W F goT 9 F gar FnEe)
CLOUD : COULD :: SMILE :
Find the missing term for the related pair of letter clusters.

CLOUD : COULD :: SMILE :

Ans of 1 MILES

X 2 SILME
X = SLIME
X + MILSE

Q.63 T & FT T STRINE H 4 O & 9T WA ¥ | SRTI HTT S R, g e

Ans

#w s v wie R s ) e Er e s e se e wmm e

Raghu’s tanker can fill & cistern i 4 howrs, After half the cistern 15 filled, three more
similar tankers are opened. What is the total time taken to fill the cistern completely?

Question ID : 9864492592
Status : Answered
Chosen Option ;2

x | 28 40 feE
2 h 40 min
V2 29e 30 fAae

Q.Mmﬁwmﬁwmymﬂﬁvﬁmwﬁmmrmm

Ans

= T SR w5 R

L EH

Cuestion 1D 19864493842
Status ; Answered
Chosen Option - 2

w§ WEE EZ A6 T {1 O R o
o

1 g5 % 57w K

2 Fo #w FT w4 £

Consider the given statements to be true and decide which of the conclusions logically
followis) from the statements.

Slatemenis:
N girl can jump, Some girls are swimmers.

Conclusions:
1. Male swimmners can jump.

2. Some swinmers can jump.
Fae fFy 2 IFFEOT HaT @
Only conclusion 2 follows

el Tsehd 1 HTERoT e §

.G

x

Only conclusion 1 follows
@1 & 2 e Far g

Meither 1 nor 2 follows

4_13ﬂtzaﬂf3§waﬂﬁ§

Both 1 and 2 follows

v

X




Q.65 i ribtion of werigus Minsraly inBaman Body | Question 1D : 9864494201
Status : Answered
Chosen Option :1

Distribution of various minerals in the human body- 7= T & ffee
e & e

Calcium- S

Magnesium- HirfEras

Iron- rar

Potassium- ShrfEmms

Sodium- HifETHE

T aE e i et o S o b T oo
FEE & T 9T, AE oiw # or et o S i Bfew
&y w1 i

T Pl s 0 o et Al i Hursaes By
fotam

The given graph shows the distribution of mnerals in the human body.

Based on the given data, what is the ratio of calcium 1o sodiun found m the human body?

Ans (1.5 :
v24;
K2
KA J

— ke

Q.66
mmﬁmmk_mmmwmﬂﬁm?? Question ID - 9864493379
Why does a sprinter keep running even afier crossing the finishing line? Status | Answered
Ans X 1 Chosen Option =4

a7 7g giAfias 0 e § % 3w W e o & e g
He wants to make sure that he crosses the line.

X2

foerar #r izar 38 Vo & AT T ¥77 A 2

Inertia of rest takes some time to make him stop.
o aify & F=ar 3T AT g g
Inertia of motion keeps him moving.

0
I FET HT S & A TN SEeT 18T # W @9 0 SN a9 B |

Friction between his shoes and the ground canses him to move beyond the line.

Q.67 e - s gt
e g E3m i mAtr il Question ID 19864493017
T & Bew vy & R o mwar 37 Status - Answered
The two roots of an quadratic equation are givenas x = Emdx - '—:rl.Thl:equaﬁI)n:m Chosen Option : 2

e written as:



Ans o 1 (2x=1)(3x-2)=0
X2 (2x=1)(3x+2)=0
X3 (2x+1)(3x-2)=0
X4 (2x+1)(3x+2)=0

Q68 ymufers mad WOl &, vw EES T T e w2
In the Modem Periodic Table, a zig-zag line separates:

Question 1D ;9864493234
Status : Answered
Chosen Option : 4

| e e
metals from halogens

§ FUTGHT F FeArasE ¥
non-metals from metalloids

o, T AesiaEw &
metals from metalloids

| ot @ gt @
metals from non-metals

X

v

2 ey IR TFAF TS ¥:

The hardest natural substance is:
Ans -

Question |D ;9864493211
Status : Answered
Chosen Oplion : 4

X 1 GICIE
Copper
X2
Graphite
x5 T
Iron
v &
Diamond

Q.70 33 RereT 1 T4 FY 1 FrAiea WEE = o8 oo s b

o

Question 1D ;9864493922
Status ; Answered
Chosen Option : 2

o ol Uo ¥
A B c D
Select the option that is the correct mirror image of the following figure.

o

Py

Ans O 4 g
v2A
X3D




X+B

Q71 37 fywey 1 997 7T S O 3 et ¥ e N Question ID ; 9864494357

Select the option that is different from the remaining three alternatives. Status © Answered
Ans & 1 XyZW Chosen Option -4
X 2 ghif
X 3 mnol
« + ponm

QM Rrmomrw s i s ir R d e

stion ID - 9864493652
el 1 Suestion

Status ; Answered

— Chosen Option : 2
Rrmram e 4T RE e W
il
1. g @ sfEw fw dEm b
2. AT & ot afd 257
Consider the given question and decide which of the following statements is sufficient 1o
answer the question.
‘What day is the 14% of a given month?
Statements:
1. The last duy of the month is Sunday.
2. The fourth Saterday of the month is 25,
o x 1 ardr wua 1 3 2 AT g
Both statement 1 and 2 are sufficient.
x 2 T A FUT 1 AT E A2
Either statement 1 or 2 is sufficient.
XA
T FUT 1 TIT § A 3 U 2 9T £
Statement 1 alone 15 sufficient while statement 2 alone is insufficient.
g
Hehol U 2 Tadca § Faie kel 1 HUa H9aeT g1
Statement 2 alone is sufficient while 1 alone is insufficient.
o7 wahgre F vt $r gEr e @ 82 Question 1D : 9864482976
. . . Status - Answered
The number of diagonals in a hendecagon is: Chosen Option : 1
Ans ‘f 133
X239
<340
X 4 44

Q.74 77 Fiffos wEE & o o O & A § e ofm ae f A . y
Fhrar s T b Question 1D : 9864493050

What product is formed when electricity is passed through an aquecus sobution of sodium Status : Answered
chlockiel Chosen Option : 1
Ans

v wfEaw gregaaEs
Sodium hydroxide
x 2 s dTarss

Sodium oxide



x 5 TETA AR T
Sodium and water

x , AfFTF 3R Fda
Sodium and chlorine

Q75 Frmfafde Aue &, W e (7) @ fame v 3R 2 98 e §
| P are Reet & TR 92t W oI W

10, L-13, O-18, 7,7, X-25

In the following series, two terms are missing as shown by the question marks (7). Select

I-10, L-13, O-16, 2, 7, X-25

Ans X 1 R-8, U-12
X 2 H-8, J-10
X 3 K-11, M-13
v+ R-19, U-22

Question 1D : 9864494272
Status - Answered
Chosen Option : 4




